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 Pythagorean Identities - Matching Worksheet 

 

Write the letter of the answer that matches the problem. 

 
_______ 

1. Simplify:  
 
1 ൅	݊ܽݐଶݔ
1 ൅ ݔଶݐ݋ܿ

 

 
 

 
a.  

Cos2x 

 
_______ 

2. Simplify: 
 
ݔଶܿ݁ݏ െ	ܿݏ݋ଶݔ

ݔଶ݊ܽݐ
 

 
 

 
b. 

Yes, it is 
proved. 

 
_______ 

3. Simplify: 
 
ݔଶܿݏܿ െ	݊݅ݏଶݔ

2	ሺ	ݔଶܿݏܿ െ	ܿݏ݋ଶݔ
 

 
 

 
c.  

tan2x 

 
_______ 

4. Verify:  
 

csc 2x = 
ୱୣୡ௫

ଶ	௦௜௡௫
 

 
 

 
d.  

1 + cos2x 

 
_______ 

5. Verify: 
 

Tan (
గ

ସ
൅ ሻݔ	 ൌ 	

௖௢௧ଶ௫

ଵି	௦௜௡మ௫
 

 
 

 
e.  

No, it is not 
proved. 

 

 

 


